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1, Twigonometwic Ratios
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Thigonemethic Raties _—E
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Thigonemethic Ratios of =——
Standand Angles

* With justthe values of sin , we can calculate all dther trigonometric ratios for
Slandard angles,

)
@ An idea o learn the sin values
L L e

1. Wite numbers from
070 & in order,

2. Divide every numben
by 4

3. Take the square nodt
of every number

4. Simplify %




Thigenemethic Ralies of
Standand Angles

Angles
Logic 30° 45°
1 1
sin0 sin@ 0 — — E 1
2 V2 2
1
sin® 2 V2 2
sin® 1 Not
1 Not 2
2 Not
1 Not 1




sin(90°- 0) = cosH

T R
complementahy angles

cos (90°- 8) = sind

tan(90°- 8) =cotd

cot(90°- 0) = tan®

sec(90°- 8) = cosecB

Opposite _ PQ

sin 8 = =
Hypotenuse 0Q

COS (90 o _ 9) = Adjacent _ PQ

cosec(90°- 0) = secO

Hypotenuse - 0Q

c0s(90°- 8) = sind

Adjacent _ OP

cos b = Hypotenuse = 0oQ

g Opposite (1) o
in - 0= =
> (90 9) Hypotenuse 0Q

sin(90°- ) = cosO
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= Opposite _ PQ

Adjacent " oP

Adjacent PQ
o _ —_ -
Lo (90 6) Opposite OP

cot(90°- 0) = tan®




Identities

Ina right - Angleal Tv‘iomgle A ABC

In A ABC we knowthat

SiNG == 1
C

cos 0 = % ............... 2

Bg pgthagoms Theorem,

a+ bé-=-¢2

Divialing bdth sides by c?

(e D) et 2
C

a
§+ C_Z_ 1
From 1 and 2.

sin?2@ + cos?20 = 1




Proof of 1 + tan20 = sec?0
We know that
sin?0 + cos?20 =1

Divioling bath the sides by Cos? 6

sin’0

cos?’0

cos’0

cos?0

tan?0 + 1 =sec?0

We know that
sin?0 + cos20 =1
Divialing bath the sides by sin? 6

sin?0 cos?’0

sin’0

1
sin’0

sin’0

1+ cot?0 = cosec?9

Proofof 1 + cot?0 = cosec?0

Thhee basic Thigenemethic Identities

sec?0 — tan?0 = 1
1+ tan?0 = sec?6
sec’6 — 1 = tan?6

sin%0 + cos?0 =1
sin?0 = 1 — cos?0
cos?0 = 1 — sin20

cosec?6 — cot?0 =1
1+ cot?0 = cosec?0
cosec?0 — 1 = cot?6




Trigonometric Ratios
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